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And we learnt regarding this; - 2957 NTI2Y 975 AR NIRRT 7OP 1M
the four Amos which they said is in order to work the vineyard

Overview

The Rna first cited a 71wn that one should not plant a tree near his neighbor’s field
unless his distances it four n1nX. The X n31 then cited a Xn™72 explaining the 71w that
the reason one needs to distance four MnX is in order to work the vineyard. mso1n
explains why the Xn»92 changes from a tree (in the 71w») to a vineyard (in the
Xn»12).

mooIn responds to the anticipated question:!
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The &n>72 should have mentioned in order to work the tree (not the vineyard), as it

states in the 7awn that 12°X7 DX 7P -
SN T NPNIN TSV 095 22) 209899 NN AT PUY 991W 295 0990 NMAY VP NON

Rather the reason he mentions 295 n712Y is because this expression is mentioned
in 29892 noo» regarding a vineyard that it requires distancing of four ni2x.

Summary
The term 07277 n712Y is used elsewhere therefor he uses it here (even) by 17°X.

Thinking it over
Seemingly by 075 we are distancing MR "7 to avoid the MR of a°Kk%, so why
mention it here where we are discussing (not 2°X?2, but) P11 nprn?

'See ‘Overview’.
2 X" "s and 3"» 1"5. The term '2127 NT2Y' does not actually appear there (in our NPIWn).
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